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Exercice 11
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Exercice 14 \\ M\\“ \Q
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respectives des pomts AB,C,BC'.
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-""‘1"'“ 'Résoudre dans C I’équation s&*ante

|| 10z - (39— 3i)z +60zﬁ\(:%&-%1\ ;(Onpose Z=2+— )

\/

L

S ARSY

Solution

S ofu };m s
lo2" — |78 -31) % 4 ko2 (36-37) 2 4\o =6

:_:%-i-_:)_,_

AN E? i 2 =

q?—l *+13'3L =%

“® d!
R e

a |2V Loty
+ \_*\3
2t

G:é\f*iL 2q (ZLJrq
AN

0

-2 3
Z

]
;:i— A€ =28

s
J

il 1
S

EL‘“) e
%

LZz%. %
W B 2D
2

Tal) eae
N

_‘_(..'L\}

ALY {29 2%4q 4 b2 L b2 4 cTho

| g Z ’
HET L0 \ 24 4&)% 0T =0
(":
\

a =19

boe -3

-—

ai;¢=ho = <=0

!

Ao TT_ |39 -31)2 4yo=0

[
A ('sq-\-‘ﬁ) * \beo
qnia + 239016

A- -3% +23Y¢

1_lg =z -8
ab =iV @z b=

u L b
S il I ‘7&{.
\ Lo i
2, »30-160 < 45{?;3'{
26 )

21 . 393494\

e p—

Ll
Ly = g SIBT  THIBS
Le LQ
1'\-\—1_. = :‘_E___'_E’i
Z, AL
(0
FINE S . \‘,’é:,gj%zo
h T
2, - L“—‘"m ~3{17 440
\ yr J @.



http://maurimath.net/Espaceeleves.php

" Exemtes38| Bac S .
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